Potencias de 10 (J)

2,482+ 1073

9,148 ~ 1073

7,422 +1073

9,535+107

0,887~ 1073

9,835+ 1073

7,222 +1073

4,138 1073

7,693 1073

6,143 +1073

Calcule los siguientes cocientes.

1,132+1073

8,285+ 1073

0,711 =103

8,547+ 1073

8,538~ 103

6,951 ~ 1073

1,112+ 1073

9,099 + 103

2,884+1072

3,039=1073
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Potencias de 10 (J) Respuestas

2,482 1073
2.482
9,148 = 1073
9.148
7,422 =103
7.422
9,535+ 1073
9.535
0,887 =103
887
9,835+ 1073
9.835
7,222 =103
7.222
4,138 =103
4.138
7,693 = 1073
7.693
6,143 1073
6.143

Calcule los siguientes cocientes.

1,132+1073
1.132
8,285+-1073
8.285
0,711 =103
711
8,547 +1073
8.547
8,538 1073
8.538
6,951 =103
6.951
1,112+1073
1.112
9,099 = 1073
9.099
2,884 1073
2.884
3,039 =103
3.039
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